
 
i.5

0 

 
e.50

 

 
i.5

1 

 270 

Strap-in stainless Ø53
Cod.300053530

Pipe N°1113
Cod.3014173201

Aluminium spacer
Cod.205771

Allen screw 
M6X60 T.C.Z.B. 
Cod.200515

Aluminium spacer
-for allen screw M6-
Cod.205767

Carbon bracket FR2
Cod.308448501

FACTORY S
Stainless Steel 
silencer Øi 50 
Cod.308437481

2 Short helical spring
tensile
Cod.303949001

Knurled collar 
nut M10 Cod.203039

Aluminium Spacer
30X13X16.5
Cod.206307
Allen screw
M10x1.25x60 T.C.E.I.
Cod.204482

Knurled collar 
nut M6  Cod.200333

Aluminium spacer
25/18X35X6.5
Cod.206355

Silencer bracket-
aluminium
Purch.Cod.206354   
Prod. Cod.3014039501

E13 92R - 02 10401

E13 92R - 01 10401

OR

 1
40

 

 105 

DB-Killer EVO N°52 B
Cod.308437801

Don't use

Art. 14173S

KAWASAKI  Z900

SLIP-ON  - "FACTORY S"  STAINLESS STEEL   - APPROVED

PLEASE REMOVE THE ORIGINAL 
GRAPHITE BUSHING 

BEFORE ASSEMBLING 
THE LEOVINCE LINK PIPE!!


	Foglio1
	Vista del disegno12
	Vista del disegno13
	Vista del disegno14


